H. Geometry - Bellwork #44

Use the figure at the right for problems 1-3.

1. Findm«3if mz5=130 andézb-do.

2. Find mz1if ms5 =142 T(U\ B65.

3. Findm£2 if m«£3 =125 &nd mz4 = 63

For 8 - 12, solve for x.

8.

X+4120 =5X
120 =14
)(*:: 0

Use the figure at the right for problems 4-7.

4. msL6+mL7 +msL8 = ‘ﬂf
5. If m«s6 =:§7x - 20,and m«11 = 80,
then x = :

6. Ifmz8=4x, =30, and m£9 = 6x -20,
then x = jk: ;
7. m£9+mz10 + ms11 = 2 ED
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12. FindmZ1,m£2, m£3, mZ4, and m/5.
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11.

Use the properties of isosceles triangles to solve for the missing variable.
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6. e Ut +bXtbr2X =18D
Pl Kt |4 X + (2 =180 ‘
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2X+30 +t9D= |80




